
 2.46 

 5.04 

www.mayfairhydraulics.com

8

10

1

9

7

10

12

13

11

5

8
6

2
3

4

THIS DRAWING IS CONFIDENTIAL AND IS SUPPLIED ON EXPRESS CONDITION THAT IT SHALL NOT BE LENT, COPIED OR DISCLOSED TO ANY OTHER PERSON OR USED FOR ANY OTHER 
PURPOSE WITHOUT WRITTEN  CONSENT OF HARDIN MARINE INC.. BREACH OF THIS CONTRACT WILL HOLD ........ AND IT'S PRINCIPALS LIABLE FOR LOSS AND DAMAGES. REVISED 10/02/15

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 137-8080 BRIDGE, VERTICAL SOLENOID - POSITIVE 1
2 137-8081 RELAY, VERTICAL POSTIVE 2
3 137-8242 BRIDGE, SOLENOID - GROUND 1
4 137-8244 BOOT 2
5 90008FN-FNSS NUT, 8-36 4
6 90025C050HHS BOLT,1/4-20x.50 3
7 90025C062HHS BOLT, HHCS, 1/4-20x.625 1
8 90025CN-FNSS NUT, 1/4-20 4
9 90025CP-HNSS NUT, JAM 1/4-20 1

10 90025FN-HNSS NUT, 1/4-28 4
11 90031C075HHS BOLT, 5/16-18 1
12 90031CN-FNSS NUT, 5/16-18 1
13 90031CP-HNSS NUT, JAM 5/16-18 1

TRIM SOLENOID ASSEMBLY
TITLE:

PART NO.
MAYFAIR HYDRAULICS 137-8245


	Sheet1
	Drawing View1
	Drawing View2


